

# Absolute $|A, \delta|_k$ and $|A, \gamma; \delta|_k$ Summability for $n$ -tupled Triangle Matrices

Smita Sonker<sup>1</sup>, Alka Munjal<sup>2</sup>, Lakshmi Narayan Mishra<sup>3</sup>

<sup>1</sup> Department of Mathematics, National Institute of Technology Kurukshetra, Kurukshetra-136119, INDIA

<sup>2</sup> Department of Mathematics, Akal University, Talwandi Sabo-151302, Bathinda, INDIA

<sup>3</sup> Department of Mathematics, School of Advanced Sciences, Vellore Institute of Technology (VIT) University, Vellore-632014, Tamil Nadu, INDIA

Correspondence to: Lakshmi Narayan Mishra, Email: lakshminarayanmishra04@gmail.com

**Abstract:** In this study, new sequence spaces  $(\mathcal{A}_k, \delta)$  &  $(\mathcal{A}_k, \gamma; \delta)$  have been introduced to establish two theorems on minimal set of the sufficient conditions for a  $n$ -tupled triangle  $T$  to be a bounded operator on sequence spaces  $(\mathcal{A}_k^n, \delta)$  &  $(\mathcal{A}_k^n, \gamma; \delta)$ . Generalized summability method  $|A, \delta|_k$  &  $|A, \gamma; \delta|_k$  have been applied for determining the sufficient conditions, where  $k \geq 1$ ,  $\delta \geq 0$  and  $\gamma$  is real number. Further, a set of new and well-known applications has been deduced from the main result under suitable conditions, which shows the importance of the main result.

**Keywords:** Absolute Summability, Boundedness of Matrix, Infinite Series, Sequence Space

DOI: <https://doi.org/10.3126/jnms.v3i2.33957>

## 1 Introduction

Let  $\sum a_n$  be a given infinite series such that

$$s_k = a_0 + a_1 + a_2 + \cdots + a_k = \sum_{l=0}^k a_l,$$

where  $s_k$  denotes the  $k^{\text{th}}$  partial sum of the series  $\sum a_n$  and  $\{s_n\}$  defines the sequence of partial sums. The  $n^{\text{th}}$  term of sequence-to-sequence transformation of  $\{s_n\}$  is defined by

$$t_n = \sum_{k=0}^{\infty} t_{nk} s_k = \sum_{k=0}^{\infty} t_{n, n-k} s_{n-k}.$$

The sequence  $\{t_n\}$  of the matrix means of sequence  $\{s_n\}$  is generated by the sequence of coefficients  $\{t_{nk}\}$ . The series  $\sum a_n$  is said to be summable to the sum  $S$  by matrix mean if  $\lim_{n \rightarrow \infty} t_n$  exists and equal to  $S$  [12], then we can write,

$$t_n \longrightarrow S(T), \text{ as } n \longrightarrow \infty.$$

A sequence of the partial sums  $\{s_n\}$  is said to be of bounded variation if the series  $|s_1 - s_0| + |s_2 - s_1| + \cdots + |s_n - s_{n-1}|$  converges, i.e.,

$$\sum_n |\Delta s_n| < \infty.$$

The sequence  $\{s_n\}$  is absolute summable by the method  $A$  ( $A$ -summable) to the limit  $s$  if  $\lim_{n \rightarrow \infty} t_n = s$  and the sequence  $\{t_n\}$  is of bounded variation:

$$\sum_{n=1}^{\infty} |t_n - t_{n-1}| < \infty.$$

For the infinite series  $\sum a_n$ , if  $\sum_{n=1}^{\infty} n^{k-1} |t_n - t_{n-1}|^k$  converges, then  $\sum_{n=0}^{\infty} a_n \in |A|_k$ , i.e., the series is absolutely  $|A|_k$ -summable of degree  $k \geq 1$ . Liu [8] studied the absolute Cesàro summability of the Fourier series. He worked on unsolved problem given by Pati [9]. Das [5] defined the concept of absolute conservation by

transforming the sequence  $\{s_n\}$  into  $\{t_n\}$ . Let  $T$  be such sequence to sequence transformation, whenever  $\{s_n\}$  converges absolutely,  $\{t_n\}$  converges absolutely, then  $T$  is called absolutely conservative and if the absolute convergence of  $\{s_n\}$  implies absolute convergence of  $\{t_n\}$  to the same limit,  $T$  is called absolutely regular. For some given  $k \geq 1$ , if  $T \in B(\mathcal{A}_k)$ ; i.e., if  $\{s_0, s_1, \dots, s_n\}$  satisfying

$$\sum_{n=1}^{\infty} n^{k-1} |s_n - s_{n-1}|^k < \infty, \quad (1)$$

implies

$$\sum_{n=1}^{\infty} n^{k-1} |t_n - t_{n-1}|^k < \infty.$$

Then,  $T$  is said to be absolutely  $k^{\text{th}}$  power conservative. Note that when  $k > 1$ , (1) does not necessarily imply the convergence of  $\{s_n\}$ . Hirokawa [7] also worked on conservative property of summability method. He found the relation between two summability methods and presented the condition for a summability method to be absolutely conservative. There exists a sequence space  $\mathcal{A}_k$  which is given by

$$\mathcal{A}_k = \left\{ \{s_n\} : \sum_{n=1}^{\infty} n^{k-1} |a_n|^k < \infty, a_n = s_n - s_{n-1} \right\}.$$

Flett [6] considered a further extension of absolute summability in which he introduced a parameter  $\delta$ . The series  $\sum a_n$  is said to be  $|A, \delta|_k$ -summable,  $k \geq 1$ ,  $\delta \geq 0$ , if

$$\sum_{n=1}^{\infty} n^{\delta k + k - 1} |t_n - t_{n-1}|^k < \infty.$$

A series  $\sum a_n$  is  $|A, \gamma; \delta|_k$  summable [11], where  $k \geq 1$ ,  $\delta \geq 0$  and  $\gamma$  is real number, if

$$\sum_{n=1}^{\infty} n^{\gamma(\delta k + k - 1)} |t_n - t_{n-1}|^k < \infty.$$

Bor [1, 2, 3, 4] developed some theorems on absolute summability factor. In [1], he established a theorem for infinite series with the help of absolute Cesàro summability. In [3], he obtained the result for infinite series by using the absolute summability of index  $k$  which is generalization of result [2]. After this, he used more generalized summability method  $|C, \alpha, \gamma; \beta|_k$  for infinite series [4]. Based on the concept of Das [5] for absolute conservation, we can say that for some given  $k \geq 1$  and  $\delta \geq 0$ , if  $T \in B(\mathcal{A}_k, \delta)$ , i.e., if  $\{s_0, s_1, \dots, s_n\}$  satisfy

$$\sum_{n=1}^{\infty} n^{\delta k + k - 1} |s_n - s_{n-1}|^k < \infty, \quad (2)$$

implies

$$\sum_{n=1}^{\infty} n^{\delta k + k - 1} |t_n - t_{n-1}|^k < \infty.$$

Then,  $T$  is said to be absolutely  $(k, \delta)$  conservative. The sequence space  $(\mathcal{A}_k, \delta)$  is given by

$$(\mathcal{A}_k, \delta) = \left\{ \{s_n\} : \sum_{n=1}^{\infty} n^{\delta k + k - 1} |a_n|^k < \infty, a_n = s_n - s_{n-1} \right\}.$$

A matrix is called a bounded linear operator on  $(\mathcal{A}_k, \delta)$ , i.e.,  $T \in B(\mathcal{A}_k, \delta)$ , if

$$T : (\mathcal{A}_k, \delta) \rightarrow (\mathcal{A}_k, \delta).$$

If  $T \in B(\mathcal{A}_k, \gamma; \delta)$ ; i.e., if  $\{s_0, s_1, \dots, s_n\}$  satisfy

$$\sum_{n=1}^{\infty} n^{\gamma(\delta k + k - 1)} |s_n - s_{n-1}|^k < \infty, \quad (3)$$

implies 
$$\sum_{n=1}^{\infty} n^{\gamma(\delta k+k-1)} |t_n - t_{n-1}|^k < \infty.$$

Then,  $T$  is said to be absolutely  $(k, \gamma; \delta)$  conservative. The sequence space  $(\mathcal{A}_k, \gamma; \delta)$  is given by

$$(\mathcal{A}_k, \gamma; \delta) = \left\{ \{s_n\} : \sum_{n=1}^{\infty} n^{\gamma(\delta k+k-1)} |a_n|^k < \infty, a_n = s_n - s_{n-1} \right\}.$$

A matrix is called a bounded linear operator on  $(\mathcal{A}_k, \gamma; \delta)$ , i.e.,  $T \in B(\mathcal{A}_k, \gamma; \delta)$ , if

$$T : (\mathcal{A}_k, \gamma; \delta) \rightarrow (\mathcal{A}_k, \gamma; \delta).$$

**Notation:** Let  $T$  be the infinite matrix for the series  $\sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} a_{N_1, N_2, \dots, N_n}$  and there exists two infinite matrices  $\bar{T}$  and  $\hat{T}$  with  $T$  as follows:

$$\begin{aligned} \bar{t}_{N_1, N_2, \dots, N_n}^{i_1, i_2, \dots, i_n} &= \sum_{\mu_1=i_1}^{N_1} \sum_{\mu_2=i_2}^{N_2} \cdots \sum_{\mu_n=i_n}^{N_n} t_{N_1, N_2, \dots, N_n}^{\mu_1, \mu_2, \dots, \mu_n} \\ \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} &= \Delta_{11 \dots n} \text{ times } \bar{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \\ &N_1, N_2, \dots, N_n, i_1, i_2, \dots, i_n = 0, 1, 2, \dots \end{aligned}$$

## 2 Known results

A triangle  $C = [c_{ij}]$  is defined as a lower triangle matrix such that,

$$C = \begin{cases} c_{ij} \neq 0, & i \geq j \\ c_{ij} = 0, & i < j \end{cases}$$

Savaş and Şevli [10] obtained the following result for boundness of the double triangle on  $\mathcal{A}_k$ .

**Theorem 2.1.** Let  $T = (t_{mnij})$  be a double triangle satisfying

- (i)  $\sum_{i=0}^m \sum_{j=0}^n |t_{ijij}| |\hat{t}_{m-1, n-1, i, j}| = O(|t_{mnmn}|)$  and
- (ii)  $\sum_{m=i}^{\infty} \sum_{n=j}^{\infty} (mn |t_{mnmn}|)^{k-1} |\hat{t}_{m-1, n-1, i, j}| = O(ij |t_{ijij}|)^{k-1}$ .

Then,  $T \in B(\mathcal{A}_k^2)$ ,  $k \geq 1$ .

## 3 Main results

The following result has been presented for the boundness of the operator using summability  $|A, \delta|_k$ ,  $k \geq 1$  and  $\delta \geq 0$ .

**Theorem 3.1.** Let  $T = (t_{N_1, N_2, \dots, N_n}^{i_1, i_2, \dots, i_n})$  be  $n$ -tupled triangle satisfying

- (i)  $\left( \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} |t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n}| |\hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n}| \right)^{k-1} = O\left( |t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n}| \right)^{\delta k+k-1}$  and
- (ii)  $\sum_{N_1=i_1}^{\infty} \sum_{N_2=i_2}^{\infty} \cdots \sum_{N_n=i_n}^{\infty} (N_1 N_2 \cdots N_n |t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n}|)^{\delta k+k-1} |\hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n}| = O\left( (i_1 i_2 \cdots i_n)^{\delta k+k-1} |t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n}|^{k-1} \right).$

Then,  $T \in B(\mathcal{A}_k^n, \delta)$ ,  $k \geq 1$  and  $\delta \geq 0$ .

The following Theorem 3.2 has been developed for the boundness of the operator using the more general summability  $|A, \gamma; \delta|_k$ ,  $k \geq 1$ ,  $\delta \geq 0$  and  $\gamma$  is a real number.

**Theorem 3.2.** Let  $T = \left( t_{N_1, N_2, \dots, N_n}^{i_1, i_2, \dots, i_n} \right)$  be  $n$ -tupled triangle satisfying

$$\begin{aligned} (i) \quad & \left( \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right| \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \right)^{k-1} = O \left( \left| t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n} \right| \right)^{\gamma(\delta k + k - 1)} \quad \text{and} \\ (ii) \quad & \sum_{N_1=i_1}^{\infty} \sum_{N_2=i_2}^{\infty} \cdots \sum_{N_n=i_n}^{\infty} \left( N_1 N_2 \cdots N_n \left| t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n} \right| \right)^{\gamma(\delta k + k - 1)} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \\ & = O \left( \left( i_1 i_2 \cdots i_n \right)^{\gamma(\delta k + k - 1)} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{k-1} \right). \end{aligned}$$

Then,  $T \in B(\mathcal{A}_k^n, \gamma; \delta)$  for  $k \geq 1, \delta \geq 0$  and  $\gamma$  is a real number.

## 4 Proof of the Theorems

If  $A_{N_1, N_2, \dots, N_n}$  denotes the  $N_1 N_2 \cdots N_n$ -term of the  $T$ -transform of a sequence  $\{s_{N_1, N_2, \dots, N_n}\}$ , then

$$\begin{aligned} A_{N_1, N_2, \dots, N_n} &= \sum_{\mu_1=0}^{N_1} \sum_{\mu_2=0}^{N_2} \cdots \sum_{\mu_n=0}^{N_n} t_{N_1, N_2, \dots, N_n}^{\mu_1, \mu_2, \dots, \mu_n} s_{\mu_1, \mu_2, \dots, \mu_n} \\ &= \sum_{\mu_1=0}^{N_1} \sum_{\mu_2=0}^{N_2} \cdots \sum_{\mu_n=0}^{N_n} t_{N_1, N_2, \dots, N_n}^{\mu_1, \mu_2, \dots, \mu_n} \sum_{i_1=0}^{\mu_1} \sum_{i_2=0}^{\mu_2} \cdots \sum_{i_n=0}^{\mu_n} a_{i_1, i_2, \dots, i_n} \\ &= \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} a_{i_1, i_2, \dots, i_n} \sum_{\mu_1=i_1}^{N_1} \sum_{\mu_2=i_2}^{N_2} \cdots \sum_{\mu_n=i_n}^{N_n} t_{N_1, N_2, \dots, N_n}^{\mu_1, \mu_2, \dots, \mu_n} \\ &= \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} a_{i_1, i_2, \dots, i_n} \bar{t}_{N_1, N_2, \dots, N_n}^{i_1, i_2, \dots, i_n}. \end{aligned}$$

Then follows

$$\begin{aligned} \tilde{A}_{N_1, N_2, \dots, N_n} &= \Delta_{11 \cdots n} \text{ times } A_{N_1-1, N_2-1, \dots, N_n-1} \\ &= A_{N_1-1, N_2-1, \dots, N_n-1} - \left( A_{N_1, N_2-1, \dots, N_n-1} + \cdots + A_{N_1-1, N_2-1, \dots, N_{n-1}-1, N_n} \right) \\ &\quad + \left( A_{N_1, N_2, N_3-1, \dots, N_n-1} + A_{N_1-1, N_2, N_3, N_4-1, \dots, N_n-1} + \cdots \right) \\ &\quad + \cdots + (-1)^n A_{N_1, N_2, \dots, N_n} \\ &= \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left[ \bar{t}_{N_1-1, N_2-1, \dots, N_n-1} - \left( \bar{t}_{N_1, N_2-1, \dots, N_n-1} + \cdots + \bar{t}_{N_1-1, \dots, N_{n-1}-1, N_n} \right) \right. \\ &\quad \left. + \left( \bar{t}_{N_1, N_2, N_3-1, \dots, N_n-1} + \cdots + \bar{t}_{N_1, N_2-1, N_3-1, N_4-1, \dots, N_{n-1}-1, N_n} \right) \right. \\ &\quad \left. + \cdots + (-1)^n \bar{t}_{N_1, N_2, \dots, N_n} \right] a_{i_1, i_2, \dots, i_n} \\ &= \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left( \Delta_{11 \cdots n} \text{ times } \bar{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} a_{i_1, i_2, \dots, i_n} \right) \\ &= \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} a_{i_1, i_2, \dots, i_n}. \end{aligned}$$

**Proof of the Theorem 3.1:** For  $|A, \delta|_k$  summable,

$$\sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\delta k+k-1} \left| \tilde{A}_{N_1, N_2, \dots, N_n} \right|^k = O(1).$$

Using Hölder's inequality and condition (i) of Theorem 3.1, we get

$$\begin{aligned} & \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\delta k+k-1} \left| \tilde{A}_{N_1, N_2, \dots, N_n} \right|^k \\ &= \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\delta k+k-1} \left| \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} a_{i_1, i_2, \dots, i_n} \right|^k \\ &\leq \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\delta k+k-1} \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \\ &\quad \times \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \left( \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right| \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \right)^{k-1} \\ &= O(1) \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} \left( N_1 N_2 \cdots N_n \left| t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n} \right| \right)^{\delta k+k-1} \\ &\quad \times \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \\ &= O(1) \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \\ &\quad \times \sum_{N_1=i_1}^{\infty} \sum_{N_2=i_2}^{\infty} \cdots \sum_{N_n=i_n}^{\infty} \left( N_1 N_2 \cdots N_n \left| t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n} \right| \right)^{\delta k+k-1} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \end{aligned}$$

Using condition (ii) of Theorem 3.1

$$\begin{aligned} &= O(1) \sum_{i_1=1}^{\infty} \sum_{i_2=1}^{\infty} \cdots \sum_{i_n=1}^{\infty} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \left( i_1 i_2 \cdots i_n \right)^{\delta k+k-1} \left| \hat{t}_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{k-1} \\ &= O(1) \sum_{i_1=1}^{\infty} \sum_{i_2=1}^{\infty} \cdots \sum_{i_n=1}^{\infty} \left( i_1 i_2 \cdots i_n \right)^{\delta k+k-1} \left| a_{i_1, i_2, \dots, i_n} \right|^k \\ &= O(1) \end{aligned}$$

Since  $(s_{N_1, N_2, \dots, N_n}) \in (\mathcal{A}_k^n, \delta)$ .

This completes the proof.

**Proof of the theorem 3.2:** For  $|A, \gamma; \delta|_k$  summable,

$$\sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\gamma(\delta k+k-1)} \left| \tilde{A}_{N_1, N_2, \dots, N_n} \right|^k = O(1).$$

Using Hölder's inequality and condition (i) of Theorem 3.2, we get

$$\begin{aligned} & \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\gamma(\delta k+k-1)} \left| \tilde{A}_{N_1, N_2, \dots, N_n} \right|^k \\ &= \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\gamma(\delta k+k-1)} \left| \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \hat{t}_{N_1-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} a_{i_1, i_2, \dots, i_n} \right|^k \end{aligned}$$

$$\begin{aligned}
 &\leq \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} (N_1 N_2 \cdots N_n)^{\gamma(\delta k+k-1)} \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \\
 &\times \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \left( \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right| \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \right)^{k-1} \\
 &= O(1) \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} \left( N_1 N_2 \cdots N_n \left| t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n} \right| \right)^{\gamma(\delta k+k-1)} \\
 &\times \sum_{i_1=0}^{N_1} \sum_{i_2=0}^{N_2} \cdots \sum_{i_n=0}^{N_n} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right| \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \\
 &= O(1) \sum_{N_1=1}^{\infty} \sum_{N_2=1}^{\infty} \cdots \sum_{N_n=1}^{\infty} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \\
 &\times \sum_{N_1=i_1}^{\infty} \sum_{N_2=i_2}^{\infty} \cdots \sum_{N_n=i_n}^{\infty} \left( N_1 N_2 \cdots N_n \left| t_{N_1, N_2, \dots, N_n}^{N_1, N_2, \dots, N_n} \right| \right)^{\gamma(\delta k+k-1)} \left| \hat{t}_{N_1-1, N_2-1, \dots, N_n-1}^{i_1, i_2, \dots, i_n} \right|
 \end{aligned}$$

Using condition (ii) of theorem 3.2

$$\begin{aligned}
 &= O(1) \sum_{i_1=1}^{\infty} \sum_{i_2=1}^{\infty} \cdots \sum_{i_n=1}^{\infty} \left| t_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{1-k} \left| a_{i_1, i_2, \dots, i_n} \right|^k \left( i_1 i_2 \cdots i_n \right)^{\gamma(\delta k+k-1)} \left| \hat{t}_{i_1, i_2, \dots, i_n}^{i_1, i_2, \dots, i_n} \right|^{k-1} \\
 &= O(1) \sum_{i_1=1}^{\infty} \sum_{i_2=1}^{\infty} \cdots \sum_{i_n=1}^{\infty} \left( i_1 i_2 \cdots i_n \right)^{\gamma(\delta k+k-1)} \left| a_{i_1, i_2, \dots, i_n} \right|^k \\
 &= O(1)
 \end{aligned}$$

Since  $(s_{N_1, N_2, \dots, N_n}) \in (\mathcal{A}_k^n, \gamma; \delta)$ .

This completes the proof.

## 5 Corollary

**Corollary 5.1.** *If  $T \in (t_{nv})$  be a triangle satisfying*

- (i)  $\left( \sum_{v=0}^n |t_{vv}| |\hat{t}_{n-1, v}| \right)^{k-1} = O(|t_{nn}|)^{\delta k+k-1}$ ,
- (ii)  $\sum_{n=v}^{\infty} (n |t_{nn}|)^{\delta k+k-1} |\hat{t}_{n-1, v}| = O(v^{\delta k+k-1} |t_{vv}|^{k-1})$ .

Then,  $T \in B(\mathcal{A}_k; \delta)$ ,  $k \geq 1$  and  $\delta \geq 0$ .

**Proof:** We can obtain the above corollary from Theorem 3.2 of the main result. For the one-dimensional problem and  $|A|_k$  summability, take  $n = 1$  and  $\gamma = 1$ .

Let  $T \in B(\mathcal{A}_k)$ ,  $k \geq 1$ , then we will get the sufficient conditions with the help of conditions (i) and (ii) of both the Theorems of main results,

$$\left( \sum_{i_1=0}^{N_1} |t_{i_1}^{i_1}| |\hat{t}_{N_1-1}^{i_1}| \right)^{k-1} = O(|t_{N_1}^{N_1}|)^{\delta k+k-1}$$

and

$$\sum_{N_1=i_1}^{\infty} (N_1 |t_{N_1}^{N_1}|)^{\delta k+k-1} |\hat{t}_{N_1-1}^{i_1}| = O(i_1^{\delta k+k-1} |t_{i_1}^{i_1}|^{k-1}),$$

where  $t_{N_1}^{N_1} = t_{N_1 N_1}$ . Hence this completes the proof.

**Corollary 5.2.** *If  $T \in (t_{nv})$  be a triangle satisfying*

- (i)  $\sum_{v=0}^n |t_{vv}| |\hat{t}_{n-1,v}| = O(|t_{nn}|)$ ,
- (ii)  $\sum_{n=v}^{\infty} (n|t_{nn}|)^{k-1} |\hat{t}_{n-1,v}| = O(v|t_{vv}|)^{k-1}$ .

*Then,  $T \in B(\mathcal{A}_k), k \geq 1$ .*

**Proof:** We can obtain the above corollary from both Theorems of the main result. For the one-dimensional problem and  $|A|_k$  summability, take  $n = 1; \delta = 0$  in the theorem 3.1 and  $n = 1; \gamma = 1; \delta = 0$  in the Theorem 3.2 of main result.

Let  $T \in B(\mathcal{A}_k), k \geq 1$ , then we will get the sufficient conditions with the help of conditions (i) and (ii) of both the theorems of main results,

$$\sum_{i_1=0}^{N_1} |t_{i_1}^{i_1}| |\hat{t}_{N_1-1}^{i_1}| = O(|t_{N_1}^{N_1}|)$$

and

$$\sum_{N_1=i_1}^{\infty} (N_1|t_{N_1}^{N_1}|)^{k-1} |\hat{t}_{N_1-1}^{i_1}| = O(i_1|t_{i_1}^{i_1}|)^{k-1},$$

where  $t_{N_1}^{N_1} = t_{N_1 N_1}$ . Hence this completes the proof.

## 6 Conclusion

The main result of this study is an attempt to formulate the problem of absolute summability factor of infinite series to develop a much efficient filter. Through the investigation, we concluded that under certain sufficient conditions, a  $n$ -tupled triangle  $T$  is a bounded operator on sequence spaces  $(\mathcal{A}_k^n, \delta)$  &  $(\mathcal{A}_k^n, \gamma; \delta)$  by applying  $|A, \delta|_k$  &  $|A, \gamma; \delta|_k$  summability method. This study has a number of direct applications in rectification of signals in FIR filter (Finite impulse response filter) and IIR filter (Infinite impulse response filter). In a nut shell, the absolute summability methods are a motivation for the engineers and researchers working in the area of filters for signal processing.

**Acknowledgments.** This work has been financially supported by Science and Engineering Research Board (SERB) through Project No.: EEQ/2018/000393. The authors offer their true thanks to the Science and Engineering Research Board for giving financial support.

## References

- [1] Bor, H., 1988, Absolute summability factors for infinite series, *Indian J. Pure Appl. Math.*, 19 (7), 664-671.
- [2] Bor, H., 1991, On quasi-monotone sequences and their applications, *Bulletin of the Australian Mathematical Society*, 43 (2), 187-192.
- [3] Bor, H., 1994, On absolute summability factors of infinite series, *Proceedings of the Indian Academy of Sciences - Mathematical Sciences*, 104, 367-372.
- [4] Bor, H., 2008, Factors for generalized absolute cesáro summability, *Mathematical Communications*, 13 (1), 21-25.
- [5] Das, G., 1970, A tauberian theorem for absolute summability, *Mathematical Proceedings of the Cambridge Philosophical Society*, 67, 321-326.
- [6] Flett, T. M., 1957, On an extension of absolute summability and some theorems of littlewood and paley, *Proceedings of the London Mathematical Society*, 3 (1), 113-141.

- [7] Hirokawa, H., 1980, On inclusion relations between two methods of summability, *Proceedings of the Japan Academy, Series A, Mathematical Sciences*, 56 (4), 166-170.
- [8] Liu, T. S., 1965, On the absolute cesáro summability factors of fourier series, *Proceedings of the Japan Academy*, 41 (9), 757-762.
- [9] Pati, T., 1963, On an unsolved problem in the theory of absolute summability factors of fourier series, *Mathematische Zeitschrift*, 82 (2), 106-114.
- [10] Savaş, E. and Şevli, H., 2010, On absolute summability for double triangle matrices, *Mathematica Slovaca*, 60 (4), 495-506.
- [11] Tuncer, A. N., 2001, On generalized absolute cesáro summability factors, *Annales Polonici Mathematici*, 78, 25-29.
- [12] Zygmund, A., 2002, *Trigonometric series*, 1, Cambridge University Press.